

# **GNCC CAPITAL, INC.**

## MANAGEMENT COMMENTARY ON STOCK TRADING

**FILED: JUNE 24, 2019** 

#### **BACKGROUND**:

GNCC Capital, Inc. ("GNCC" or "The Company") has received a number of enquiries from shareholders commencing late Friday June 21, 2019 up and to including late today, June 24, 2019. These all related to trading activity in our Company's shares of Common Stock.

The Company's Directors are loathe to comment on day to day trading but feel it necessary to present the facts and permit our shareholders to analyze the trades and to draw their own conclusions. This, we promised to those shareholders whom reached out to ourselves. To that end we have extracted the data from OTCIQ and hereby provide the facts.

### **TRADING ACTIVITY:-**

On Friday June 21, 2019 commencing at 14:52 EST, large blocks of shares were sold at a price of \$0.00001, thereby eliminating the Bid. On the same day, a single trade was executed in the amount of 37,500 shares at a price of \$0.00005 per share.

On Monday June 24, 2019, substantial offers of our Common Stock were again offered at a price of \$0.0001 per share. Once again, a further single trade was executed in the amount of 37,500 shares at a price of \$0.00005 per share.

Furthermore as demonstrated on the annexed trading schedules from the OTCIQ, an amount of 150,050,500\* shares were executed at 09:30 EST (Exactly as at Market Open) and were not reflected as executed trades until 20 minutes after the Market Close today. This caused our shareholders to not accurately see the daily trading volumes for the day. Traders believed that the volume traded today was 174,736,332 and not the true amount of 324,786,832. Traders were unaware that the opening trades commenced at 150 million shares.

\*The first amount: 99,999,999. Second amount: 50,050,501.

#### **MANAGEMENT COMMENTARY:-**

In the opinion of your Directors, no astute equity trader sells (and indeed offers a very large additional block) of stock, thereby wiping out the bid and just prior to the market close on a Friday.

We will be polite and assume that it was financially inept and served no purpose. All it achieved was to <u>TEMPORARILY</u> cause panic, frighten shareholders into selling our stock and to temporarily damage our shareholders and indeed, our Preferred Stockholders.

We confirm that no additional shares have been issued, no further conversions have been executed and no Preferred Stockholders have even requested the same.

The Company is doing exactly what we publicly announced, nothing has changed, we see no "dark clouds on the horizon"; so this price action is senseless.

However, it may be very simple: an inept or a desperate shareholder(s) dumped their shareholdings for any number of reasons. We say inept, given the way the trades were executed and the timing of the same.

We receive a lot of forceful messages talking about Short Sellers, Market Maker Activity and Investors Hub; we honestly feel it inappropriate for us to comment.

Our belief is that **<u>DELIVERY</u>** upon our promises, the execution of deals, Revenues, Cash Flow, Valuations and Bottom Line Profits are the way to stop whatever alleged nefarious activities may or may not be taking place.

Attacking or making unprovable allegations are not the way to defeat the detractors of our Company. Proving them wrong is the only solution.

We do however agree that it is rather sad that people have nothing better to do with their time other than to continually post false, misleading and ridiculous statements about our Company. They clearly are not shareholders unless of course they purchase shares, trash them and lose their investment; not a very sound investment strategy.

#### **EXHIBIT**:

Trading Schedules for June 21, 2019 and June 24, 2019.

**DATED: JUNE 24, 2019** 

RONALD YADIN LOWENTHAL GNCC CAPITAL, INC. EXECUTIVE CHAIRMAN GNCC Capital, Inc. [GNCP: OTC Link]

GNCC Capitali, Inc.

Date Parameters: Fri, Jun 21, '19 - Mon, Jun 24, '19

**Totals** 

Number of Trades 156 Total Share Volume\* 968,907,784 Total Dollar Volume 97,228.7184

Analytics\*\*

High/Low Price 0.0002 / 0.0000 Mean/Median Price 0.0001 / 0.0001 VWAP

Change\*\*\* -0.0001 (-50.00%) Mean/Median Volume 6,210,947 /

<sup>\*\*\*</sup>Change value on initial trade of selected date range.

|        | Date/Time             | Price   | Volume     | \$ Volume |
|--------|-----------------------|---------|------------|-----------|
| 182700 | Jun 24, 2019 15:59:59 | 0.0001  | 1,000,000  | 100.      |
| 181150 | Jun 24, 2019 15:58:23 | 0.0001  | 3,300,000  | 330.      |
| 180174 | Jun 24, 2019 15:57:05 | 0.0001  | 10,000,000 | 1,000.    |
| 177598 | Jun 24, 2019 15:53:42 | 0.0001  | 9,962,500  | 996.25    |
| 177413 | Jun 24, 2019 15:53:25 | 0.00005 | 37,500     | 1.875     |
| 157668 | Jun 24, 2019 15:25:49 | 0.0001  | 7,000,000  | 700.      |
| 142485 | Jun 24, 2019 14:45:48 | 0.0001  | 300,000    | 30.       |
| 133223 | Jun 24, 2019 14:19:43 | 0.0001  | 60,000     | 6.        |
| 131665 | Jun 24, 2019 14:15:08 | 0.0001  | 20,000,000 | 2,000.    |
| 131203 | Jun 24, 2019 14:13:30 | 0.0001  | 8,000,000  | 800.      |
| 125933 | Jun 24, 2019 14:00:13 | 0.0001  | 41,380,700 | 4,138.07  |
| 93604  | Jun 24, 2019 12:29:29 | 0.0001  | 3,000,000  | 300.      |
| 91866  | Jun 24, 2019 12:24:58 | 0.0001  | 500,049    | 50.0049   |
| 91865  | Jun 24, 2019 12:24:58 | 0.0001  | 500,049    | 50.0049   |
| 82745  | Jun 24, 2019 11:57:52 | 0.0001  | 1,473,100  | 147.31    |
| 81866  | Jun 24, 2019 11:54:40 | 0.0001  | 500,049    | 50.0049   |
| 81717  | Jun 24, 2019 11:54:07 | 0.0001  | 500,049    | 50.0049   |
| 81716  | Jun 24, 2019 11:54:07 | 0.0001  | 500,049    | 50.0049   |
| 81469  | Jun 24, 2019 11:53:18 | 0.0001  | 500,049    | 50.0049   |
| 81465  | Jun 24, 2019 11:53:17 | 0.0001  | 500,049    | 50.0049   |
| 81401  | Jun 24, 2019 11:53:03 | 0.0001  | 500,049    | 50.0049   |
| 81400  | Jun 24, 2019 11:53:03 | 0.0001  | 500,049    | 50.0049   |
| 81399  | Jun 24, 2019 11:53:02 | 0.0001  | 500,049    | 50.0049   |
| 80706  | Jun 24, 2019 11:51:00 | 0.0001  | 500,049    | 50.0049   |
| 79905  | Jun 24, 2019 11:48:40 | 0.0001  | 500,049    | 50.0049   |
| 79873  | Jun 24, 2019 11:48:36 | 0.0001  | 500,049    | 50.0049   |
| 79652  | Jun 24, 2019 11:47:50 | 0.0001  | 500,049    | 50.0049   |
| 79402  | Jun 24, 2019 11:47:16 | 0.0001  | 500,049    | 50.0049   |
| 79387  | Jun 24, 2019 11:47:13 | 0.0001  | 500,049    | 50.0049   |
| 78845  | Jun 24, 2019 11:45:43 | 0.0001  | 500,049    | 50.0049   |
| 77577  | Jun 24, 2019 11:42:39 | 0.0001  | 400,000    | 40.       |
| 73567  | Jun 24, 2019 11:31:21 | 0.0001  | 10,000,000 | 1,000.    |
| 65357  | Jun 24, 2019 11:09:59 | 0.0001  | 2,049,000  | 204.9     |
| 59622  | Jun 24, 2019 10:56:16 | 0.0001  | 1,000,000  | 100.      |
| 55702  | Jun 24, 2019 10:48:09 | 0.0001  | 740,000    | 74.       |
| 54297  | Jun 24, 2019 10:45:02 | 0.0001  | 9,000,000  | 900.      |
| 50820  | Jun 24, 2019 10:37:04 | 0.0001  | 10,000,000 | 1,000.    |
| 47669  | Jun 24, 2019 10:30:33 | 0.0001  | 1,070,000  | 107.      |
| 37940  | Jun 24, 2019 10:11:51 | 0.0001  | 1,000,000  | 100.      |
| 34409  | Jun 24, 2019 10:04:31 | 0.0001  | 1,000,000  | 100.      |
| 33106  | Jun 24, 2019 10:02:04 | 0.0001  | 1,000,000  | 100.      |
| 29365  | Jun 24, 2019 09:55:34 | 0.0001  | 500,000    | 50.       |
| 27872  | Jun 24, 2019 09:53:23 | 0.0001  | 2,000,000  | 200.      |
| 19790  | Jun 24, 2019 09:41:00 | 0.0001  | 930,500    | 93.05     |

<sup>\*</sup>Total Share Volume as disseminated by FINRA on the original trade date does not reflect subsequent cancellations and correctic \*\*Analytics do not include Canceled trade data. Corrected trade data is included.

| 16961            | Jun 24, 2019 09:37:07                          | 0.0001           | 2,000,000              | 300          |
|------------------|--|------------------|------------------------|--------------|
| 8348             | Jun 24, 2019 09:30:08                          | 0.0001           | 2,000,000<br>500,000   | 200.<br>50.  |
| 8346             | Jun 24, 2019 09:30:08                          | 0.0001           | 999,999                | 99.9999      |
| 8344             | Jun 24, 2019 09:30:08                          | 0.0001           | 500,000                | 50.          |
| 8342             | Jun 24, 2019 09:30:08                          | 0.0001           | 500,000                | 50.          |
| 8341             | Jun 24, 2019 09:30:08                          | 0.0001           | 900,000                | 90.          |
| 8338             | Jun 24, 2019 09:30:08                          | 0.0001           | 900,000                | 90.          |
| 3327             | Jun 24, 2019 09:30:02                          | 0.0001           | 402,200                | 40.22        |
| 8335             | Jun 24, 2019 09:30:02                          | 0.0001           | 2,000,000              | 200.         |
| 2885             | Jun 24, 2019 09:30:02                          | 0.0001           | 500,000                | 50.          |
| 182967           | Jun 24, 2019 09:30:00                          | 0.0001           | 50,050,501             | 5,005.0501   |
| 182964           | Jun 24, 2019 09:30:00                          | 0.0001           | 99,999,999             | 9,999.9999   |
| 1023             | Jun 24, 2019 09:30:00                          | 0.0001           | 1,400,000              | 140.         |
| 1022             | Jun 24, 2019 09:30:00                          | 0.0001           | 3,000,000              | 300.         |
| 1021             | Jun 24, 2019 09:30:00                          | 0.0001           | 3,000,000              | 300.         |
| 1019             | Jun 24, 2019 09:30:00                          | 0.0001           | 1,500,000              | 150.         |
| 1018<br>170403   | Jun 24, 2019 09:30:00                          | 0.0001           | 1,930,000              | 193.         |
| 168650           | Jun 21, 2019 15:53:39<br>Jun 21, 2019 15:51:23 | 0.0001<br>0.0001 | 1,000,000              | 100.         |
| 168020           | Jun 21, 2019 15:50:33                          | 0.0001           | 450,000<br>250,000     | 45.<br>25.   |
| 167416           | Jun 21, 2019 15:49:41                          | 0.0001           | 250,000                | 25.<br>25.   |
| 156509           | Jun 21, 2019 15:36:15                          | 0.0001           | 190,500                | 19.05        |
| 150108           | Jun 21, 2019 15:23:52                          | 0.0001           | 300,000                | 30.          |
| 149563           | Jun 21, 2019 15:22:20                          | 0.0001           | 15,000,000             | 1,500.       |
| 147472           | Jun 21, 2019 15:18:34                          | 0.0001           | 9,962,500              | 996.25       |
| 147336           | Jun 21, 2019 15:18:15                          | 0.00005          | 37,500                 | 1.875        |
| 146439           | Jun 21, 2019 15:16:39                          | 0.0001           | 525,899                | 52.5899      |
| 145424           | Jun 21, 2019 15:14:40                          | 0.0001           | 1,000,000              | 100.         |
| 143498           | Jun 21, 2019 15:10:48                          | 0.0001           | 9,250,000              | 925.         |
| 142387           | Jun 21, 2019 15:08:11                          | 0.0001           | 5,800,000              | 580.         |
| 139000           | Jun 21, 2019 14:58:58                          | 0.0001           | 10,000,000             | 1,000.       |
| 138978           | Jun 21, 2019 14:58:55                          | 0.0001           | 10,000,000             | 1,000.       |
| 138966           | Jun 21, 2019 14:58:52                          | 0.0001           | 1,999,999              | 199.9999     |
| 138923           | Jun 21, 2019 14:58:46                          | 0.0001           | 10,000,000             | 1,000.       |
| 138922           | Jun 21, 2019 14:58:46                          | 0.0001           | 10,000,000             | 1,000.       |
| 138921           | Jun 21, 2019 14:58:46                          | 0.0001           | 3,000,000              | 300.         |
| 138920<br>138919 | Jun 21, 2019 14:58:46<br>Jun 21, 2019 14:58:46 | 0.0001<br>0.0001 | 2,000,000<br>4,000,000 | 200.<br>400. |
| 138918           | Jun 21, 2019 14:58:46                          | 0.0001           | 1,500,000              | 400.<br>150. |
| 138917           | Jun 21, 2019 14:58:46                          | 0.0001           | 1,100,000              | 110.         |
| 138916           | Jun 21, 2019 14:58:46                          | 0.0001           | 1,900,000              | 190.         |
| 138915           | Jun 21, 2019 14:58:46                          | 0.0001           | 2,500,000              | 250.         |
| 138914           | Jun 21, 2019 14:58:46                          | 0.0001           | 1,000,000              | 100.         |
| 138913           | Jun 21, 2019 14:58:46                          | 0.0001           | 2,000,000              | 200.         |
| 138911           | Jun 21, 2019 14:58:46                          | 0.0001           | 2,000,000              | 200.         |
| 138910           | Jun 21, 2019 14:58:46                          | 0.0001           | 5,750,000              | 575.         |
| 137293           | Jun 21, 2019 14:54:13                          | 0.0001           | 3,169,352              | 316.9352     |
| 137292           | Jun 21, 2019 14:54:12                          | 0.0001           | 9,000,000              | 900.         |
| 137291           | Jun 21, 2019 14:54:12                          | 0.0001           | 9,000,000              | 900.         |
| 137290           | Jun 21, 2019 14:54:12                          | 0.0001           | 9,000,000              | 900.         |
| 137289           | Jun 21, 2019 14:54:12                          | 0.0001           | 9,000,000              | 900.         |
| 137286           | Jun 21, 2019 14:54:12                          | 0.0001           | 9,000,000              | 900.         |
| 137281           | Jun 21, 2019 14:54:10                          | 0.0001           | 2,000,000              | 200.         |
| 137280<br>137279 | Jun 21, 2019 14:54:10                          | 0.0001           | 150,001                | 15.0001      |
| 137279           | Jun 21, 2019 14:54:10<br>Jun 21, 2019 14:54:09 | 0.0001<br>0.0001 | 9,000,000              | 900.<br>900. |
| 137270           | Jun 21, 2019 14:54:09                          | 0.0001           | 9,000,000<br>9,000,000 | 900.<br>900. |
| 137270           | Jun 21, 2019 14:54:09                          | 0.0001           | 9,000,000              | 900.         |
| 137268           | Jun 21, 2019 14:54:08                          | 0.0001           | 9,000,000              | 900.         |
| 137266           | Jun 21, 2019 14:54:08                          | 0.0001           | 9,000,000              | 900.         |
| 137264           | Jun 21, 2019 14:54:08                          | 0.0001           | 9,000,000              | 900.         |
| 137262           | Jun 21, 2019 14:54:07                          | 0.0001           | 1,000,000              | 100.         |
| 137259           | Jun 21, 2019 14:54:07                          | 0.0001           | 100,000                | 10.          |
| 137258           | Jun 21, 2019 14:54:07                          | 0.0001           | 150,001                | 15.0001      |
|                  |  |                  |                        |              |

| 137255 | Jun 21, 2019 14:54:06                   | 0.0004 | 0.000.000  | 000        |
|--------|---|--------|------------|------------|
|        | ,                                       | 0.0001 | 9,000,000  | 900.       |
| 137252 | Jun 21, 2019 14:54:06                   | 0.0001 | 9,000,000  | 900.       |
| 137251 | Jun 21, 2019 14:54:06                   | 0.0001 | 9,000,000  | 900.       |
| 137250 | Jun 21, 2019 14:54:06                   | 0.0001 | 9,000,000  | 900.       |
| 137249 | Jun 21, 2019 14:54:05                   | 0.0001 | 9,000,000  | 900.       |
| 137248 | Jun 21, 2019 14:54:05                   | 0.0001 | 9,000,000  | 900.       |
| 137246 | Jun 21, 2019 14:54:04                   | 0.0001 | 9,000,000  | 900.       |
| 137243 | Jun 21, 2019 14:54:04                   | 0.0001 | 9,000,000  | 900.       |
| 137242 | Jun 21, 2019 14:54:03                   | 0.0001 | 9,000,000  | 900.       |
| 137241 | Jun 21, 2019 14:54:03                   | 0.0001 | 9,000,000  | 900.       |
| 137239 | Jun 21, 2019 14:54:03                   | 0.0001 | 9,000,000  | 900.       |
| 137237 | Jun 21, 2019 14:54:03                   | 0.0001 | 9,000,000  | 900.       |
| 137236 | Jun 21, 2019 14:54:02                   | 0.0001 | 9,000,000  | 900.       |
| 137235 | Jun 21, 2019 14:54:02                   | 0.0001 | 9,000,000  | 900.       |
| 137234 | Jun 21, 2019 14:54:02                   | 0.0001 | 9,000,000  | 900.       |
| 137226 | Jun 21, 2019 14:54:02                   | 0.0001 | 9,000,000  | 900.       |
| 137225 | Jun 21, 2019 14:54:01                   | 0.0001 | 9,000,000  | 900.       |
| 137221 | Jun 21, 2019 14:54:01                   | 0.0001 | 9,000,000  | 900.       |
| 137220 | Jun 21, 2019 14:54:01                   | 0.0001 | 9,000,000  | 900.       |
| 137217 | Jun 21, 2019 14:54:00                   | 0.0001 | 9,000,000  | 900.       |
| 137216 | Jun 21, 2019 14:54:00                   | 0.0001 | 9,000,000  | 900.       |
| 137212 | Jun 21, 2019 14:54:00                   | 0.0001 | 9,000,000  | 900.       |
| 137209 | Jun 21, 2019 14:53:59                   | 0.0001 | 9,000,000  | 900.       |
| 137208 | Jun 21, 2019 14:53:59                   | 0.0001 | 9,000,000  | 900.       |
| 137204 | Jun 21, 2019 14:53:59                   | 0.0001 | 9,000,000  | 900.       |
| 137202 | Jun 21, 2019 14:53:58                   | 0.0001 | 9,000,000  | 900.       |
| 137196 | Jun 21, 2019 14:53:58                   | 0.0001 | 9,000,000  | 900.       |
| 137154 | Jun 21, 2019 14:53:51                   | 0.0001 | 150,500    | 15.05      |
| 137143 | Jun 21, 2019 14:53:47                   |        |            |            |
| 137143 |   | 0.0001 | 3,355,564  | 335.5564   |
|        | Jun 21, 2019 14:53:42                   | 0.0001 | 9,999,999  | 999.9999   |
| 137109 | Jun 21, 2019 14:53:37                   | 0.0001 | 9,999,999  | 999.9999   |
| 137073 | Jun 21, 2019 14:53:28                   | 0.0001 | 9,999,999  | 999.9999   |
| 137043 | Jun 21, 2019 14:53:24                   | 0.0001 | 2,000,000  | 200.       |
| 137038 | Jun 21, 2019 14:53:23                   | 0.0001 | 9,999,999  | 999.9999   |
| 137020 | Jun 21, 2019 14:53:19                   | 0.0001 | 2,000,000  | 200.       |
| 137009 | Jun 21, 2019 14:53:15                   | 0.0001 | 9,999,999  | 999.9999   |
| 136989 | Jun 21, 2019 14:53:14                   | 0.0001 | 3,000,000  | 300.       |
| 136925 | Jun 21, 2019 14:53:06                   | 0.0001 | 9,999,999  | 999.9999   |
| 136840 | Jun 21, 2019 14:52:56                   | 0.0001 | 10,411,000 | 1,041.1    |
| 136841 | Jun 21, 2019 14:52:56                   | 0.0001 | 9,999,999  | 999.9999   |
| 136752 | Jun 21, 2019 14:52:41                   | 0.0001 | 14,724,104 | 1,472.4104 |
| 136714 | Jun 21, 2019 14:52:33                   | 0.0001 | 9,999,999  | 999.9999   |
| 136697 | Jun 21, 2019 14:52:32                   | 0.0001 | 48,267,140 | 4,826.714  |
| 136650 | Jun 21, 2019 14:52:24                   | 0.0001 | 4,350,000  | 435.       |
| 100775 | Jun 21, 2019 13:15:53                   | 0.0001 | 2,000,000  | 200.       |
| 86291  | Jun 21, 2019 12:23:14                   | 0.0001 | 110,000    | 11.        |
| 73388  | Jun 21, 2019 11:47:24                   | 0.0002 | 3,000,000  | 600.       |
| 53328  | Jun 21, 2019 11:00:28                   | 0.0002 | 416,900    | 83.38      |
|        | , | 3.0002 | 2,000      | 33.30      |